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Aoknon 10
flen |x| dx
Avon:
J 2In |x| d —J Nl el dx = 1 fxs(l ) dx = 1,
x“In |x| dx = 3 n|x|x—3n|x| 3 n|x x—3nx 3xx

_X 1f P 1xS+c—x3(1 1)+c
—3n|x|3xx—3n|x| 33 =3 n|x|3



Aoknon 11

fx2—3x+2
x+1

x%2—3x+2 c [(x+D(x—-4)+6
f—dx<—> dx
x+1 x+1

* O gpiBunTNC MEOKOVTITEL ArTo TNV SIQIDEC TTOALWVOUGV

x+Dx—-4)+6 x+1D(x—4) 6
x+1 dxzf( x+1 +x+1)dx
(x+1)(x—4)dx+f
x+1

1
x+1dx—f(x—4)dx+6fx+1dx

x2
=7—4x+61n|x+1|+C

Aoknon 12
[
21
Avon:
1 1 _ A, 4 , c R
21 x-Dx+1) -1 x+1) rE
1 Ay A,

1=A1(x+1)+A2(x—1)=>1=XA1+A1+XA2—A2

G-De+D) G-D x+D_
=> 1=l +4)x+ (4 —A4y)

JOVETTAC:
{A1+A2=O
Al_A2=1
, 1 1
Apa’A1=§K0UA2=—§
ApaQ:
1
J 1 J _f 5 1 1 1 )d
2177\ &= (x+1) 2(x—1) 2(x+1) X

1f ! 1 d Injx—1]—=In|x+1|+C
=z ——<dx—3 x——nx— ——nx
(x 2 (x+1)



